BEAD GEXEF - BTTH5)

LfT7E2A 18
;1) X % # F K A ! % %

B 7 & o X 6,960 13,298 6,954 6,344

X B # K 1,199 2,789 1,379 1,410

£ P # K 547 1,362 684 678

N RO K 1,020 2,566 1,290 1,276

Bl 4% i K 7,194 14,776 7,215 7,56 |

N | R # K 1,313 3,051 1,490 1,56 |

it XX M # K 1,037 2,375 1,182 1,193

it &8 & b K 7,963 18,227 8,678 9,549

B » B # X 6,600 16,133 8,06 | 8,072

& 5 33,833 74,577 36,933 37,644
LfT7FE2A 18

w K A& BT T % # #H A ! 5 54

B 7 i X BE 7 1B T A 4,639 9,186 4,598 4,588
¥ FB H 201 354 199 155

® B E 44| 832 43| 401

£ L L H 775 1,346 85| 495

g R H 316 530 286 244

53 ip) 588 1,050 589 46|

#H K3 6,960 13,298 6,954 6,344

A E 1 K £ B H 88 202 102 100
N & H 818 1,919 937 982

= K 145 330 167 163

+ K 1% #7 6T 148 338 173 165

#H K3 1,199 2,789 1,379 1,410

k P # K ® B H 138 339 178 161
= (| 16 37 15 22

£ @\ H 126 395 186 209

& & H a6 207 96 1]

R H 107 238 134 |04

K F  H 64 | 46 75 71

#H K3 547 1,362 684 678

N RO X N KR H 178 393 198 195
nOR 151 390 193 197

7 PR HT 32 78 34 44

B R ¥ g 487 1,299 666 633

& A& 65 165 77 88

Z ij) 107 24| 122 119

#H K3 1,020 2,566 1,290 1,276
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BEAD GEXEF - BTTH5)

2f7E28 | B
X £ B T 4 it FEH A = L 8
Bl &£ # X | B & H 639 1,470 718 752
P9 & %7 @ BT | 2 2 0
A 1 HT |74 413 200 213
B R B 733 1,602 776 826
& £ 6 1,011 2,177 1,021 1,156
Bl &£ 102 398 156 242
= & 1,963 3,904 1,931 1,973
B | TH 242 420 213 207
8 2 TEH 452 874 438 436
8 3 TH 505 810 410 400
8 4 TBH 759 1,375 699 676
B M W 25 | 4 I
N GROE S ET 440 ql4 45| 463
JE £ 787 %7 @ T 15 36 15 21
LT 1 | 47 356 171 185
#H X 7,194 14,776 7,215 7,56 |
N R Kt R R AR E 1,313 3,051 1,490 1,56 |
# X3 1,313 3,051 1,490 1,56 |
b X R X & ¢ H 72 218 115 103
& 5% %7 @B 6T 66 152 75 77
‘A BE YR E] 107 246 118 128
g @\ 60 139 74 65
it #H H 75 187 92 g5
N OB 31 81 43 38
& ‘A 66 171 86 85
X B 6 16 7 q
BAaa | TH ql 188 102 86
BAaE2TH 92 196 92 |04
B E3TH qq 195 95 100
a4 TH 135 301 143 158
B2 E5TH 55 117 56 61
B E 6 T8 82 168 84 84
#H X 1,037 2,375 1,182 1,193
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BEAD GEXEF - BTTH5)

2f7E28 | B
H K % B T 4 # FH | A = L 8
t®EE®E | LI TH 185 395 192 203
EWL2TEH 197 444 210 234
EWw 3 TEH 173 394 207 187
Bl 4 TEH 328 815 353 462
EWL5TEH 273 597 276 321
EWL 6 TEH 288 676 334 342
EWL7TEH 237 572 283 289
EWL 8 TEH 276 604 297 307
WwWE I TEH 44| gl 415 496
WwWE2TEH 130 323 157 166
¥ 3ITBAE 231 512 265 247
WwWE4TEH |59 358 165 193
WwW¥ES5TBH 243 549 264 285
WwW¥E 6 TBH 272 608 280 328
NI T B 27 60 29 31
N2 T H 359 900 447 453
N3 TEH | 84 404 212 192
NS 4 T B 57| l,154 516 638
T& 1 TH 204 465 219 246
& 2T7TEH 240 574 272 302
& 3TEH 14| 316 165 151
T & 4T7TEH 273 670 323 347
T &5TEH 191 436 186 250
BRE I TH 192 480 234 246
BHRE2TH 210 564 271 293
BHRE3TE 70 | 89 88 101
wHRE4TH 210 450 207 243
BHRES5TE 289 748 352 396
Afx& | TH |64 415 205 210
A& 2TH 169 399 199 200
A& 3TH 361 797 385 412
Afr& 4 TH 675 |,448 670 778
# X E 7,963 18,227 8,678 9,549
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2f7E28 | B
H K % B T 4 # FH | A = L 8
Ry MK | gEyrl TH 175 766 513 253
Bk BE2TH 173 427 218 209
By A3 TH 206 463 237 226
o R4 TH 285 749 355 394
B4y A5 TH 343 808 376 432
By 6TH 333 q42 467 475
Bk BT TEH 432 114 57 | 543
W/ AW TH 288 704 321 383
W/ W2TH 242 58| 286 295
W/ W3TH 388 996 478 518
W/ W4TH 306 786 377 409
W/ W5TH 285 739 367 372
wr e TH 548 1,133 555 578
WworBE2TH 47| 995 484 511
WwWor B3 T8 363 1,009 503 506
Wwor B 4TE 355 609 307 302
= I = 282 717 365 352
B3 2TB8 455 1,032 532 500
B3R 3TA8 308 754 384 370
B3 4TH 344 638 310 328
B | TH | 130 36 q4
v B 3 T8 |7 41 19 22
# K F 6,600 16,133 8,06 8,072
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